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(1-5) : Read the fﬂllnwing passage carefully and answer the questiuﬁiﬁ: given

helow it. . : : ' Ry

During the Gulf War, a faw vears back, tens of thousands of sea birds were
killed due to oil spills. Do yﬂu knnw what makes crude oil on ocean 'I'n'ater $0
deadly? ' =

Crude oil is not used in the same state it is produced at the off-shoré wells.

- It is converted in refinaries into a wide range of products such as gasoline,

kerosene, diesel, fuel oils and petrnchemmal feed-stockﬂ EEfurﬂlt!lE reﬁnnd the

oil contains potentially fatal components. T,

" Crude oil is made of compounds of carbon and h:,'drugen called

" hydrocarbons, These hydrocarbons may be paraffin, the oil that is used & fiel

in heaters and lamps or cjr&'ldparafﬁhs (naphthenes) or aromatic compounds in
varying proportions. )

While crude oil found in the-. US 19 mﬂsﬂy paraﬁmu:, that fnund alung the
Gulf Coast are naphthenic which contain sulphur compounds in, varying

amounts, a small amount of nitregen and very little oxvgen. Every variety of

crude oil has nickel and vanadium in high concentration. Iron may be found in
organic form due to the corrosion of pipes. Paraffins like methane and ethane
are asphyxiants, substances that cause suffocation. The effects of cycloparafiins

‘are more or less similar to those of the paraffins but unsaturated paraffins are

more noxious, than the saturated ones. The sulphur-present in ¢rude oil may
be toxic. The mechanism of toxi ic action seems tp involve its breakdqwn to |
hydrogen sulphlde They will &ﬂt pnnmpally on the nervous Eyﬂtem with dea th
resulting mainly from respiratory paralysis. Sulphur in the form of aromatic
thiophenes, benzothiophenes can damage the livers and kidneys of sea animajs.
Sulphur compounds like mercaptans can be very dangerﬂus too.

‘Thousands of sea birds were kﬂled due to'oil spills because ......

(1) it suffocated them @ it was poisonous . ._
(3) birds couldn' trﬁm_:er the gea {4] there was no fish to feed on
The primary components of crude oll are ... ¥ g,
(1) m_eth_ane and ethane by o carhnn and h},fdrugen
(3) sulphur comiponents = * +(4) naphthenes
2]
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Paraffinisused...

(1) to make h}rdrncarbuns @ as fuel -

(3) in refina ries (4) inpetrochemicals

&gﬂphu:r in crude oil........suene

damages nervous system (2) damages the livers and kidneys

(3) causes suffncﬂtmn B (_4'} -causes respiratory problems

“Asg phymants cause I:Ieath b}' |

(1) drowning @ suffacation -

(3) w-:-umls (4) caricer

(6-10): The blanks in the following paas&g& are. numherﬂd 6 to lﬂ Foxr each blank,

four possihle options are gwen Identify the correct one for ea{;h blank.

Poverty is wrnngljr considered ........(6)......... evil. The poor lead a .-....‘L.{T] .......

‘life than the rich. The c¢hildren of rich men are not so fortunate as (B}
of poor men. The home of puvei'ty, free from care and social envy, 18 ch aracterized
by love and unity ..........(9)......... ite menibers. It can be found that most of
the great men on Earth are thﬂﬁ& who have ..........(10)........... from the ranks of
the poor.

o, (D a @)an @ 'th @ noarticleisrequired
1 B happlest (2) more happier @ h‘ap'pier- (4). happy

8. ((1)) those (2) these (3) their (4) that

9. (1) between (2) for - | (3) of | 'amﬂ;lg |

10. (1) spruut (2) s prhng BIII‘I]I]g {4} sprmg

(11-15) : Read the sentences that are numbcred at the hegmnmg of each sentence

in the following passage. Each sentence has an error. Identlfy the WIong
word/phrase and 1ta cnrrect one given together as one of the nptwns

One cold, wet morning, my class was filled with excitement. (11) Someone have

- discovered that the next day was our teacher's birthday. Our teacher was the .

Y-1

kindest person that ever.existed. (12) Thus it was no surprise she was the
favourite teacher to the pupils. (13) Everyonc wantsto get her a present. I,
very much wanted to show my appreciation too. (14) That afternoon, I spent

[3] | Turn Over
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the whole afternoon to shnp. for a present. (15) After a long search, I finally
made in my mind. The next day I gave her a pen set and she exclaimed in
surprise. .

11. (1) someone —anyone @ have - had |
(3) was—will 4) teacher's—teachers
12. (1) no - any 2) aﬁ_e — her
(3) favourite — favourable to —with
13. (1) everyone — anyone @ wants — wanted-
- (3) get—got (4) present—presence
14. (1) spent-—spended (2) whole—all
@ to shop — shopping (4) for-—to
15. (1) finally —final (2)  made-- makes’
in —up (4) niind — mindful
16, His......... was evident from his rude behaviour.
Choose the appropriate word that fits the blank.
(1) negligence @ arrogance
(3) innocence’ (4) ignorance
17. She said to him, "Can 1 delay the payment until tomorrow?"
The abhove sentence can also be written as ..........
(1) She told him that she could delay the payment until the next day.
(2) She asked him weather she could delay the payment -untﬂ':thé'ﬂéxt day.
(3) She requested him to permit her to be delayed the payment until the
. next day. )
She asked him whether she could delay the payment until the next day.
18. Read the following sentences and identify the sentence in which the word ‘fast’
is used as an adverb.
1) This is a fast train. @ This train runs fast. -
(3) Ifast on Saturdays. (4) The leader went on a fast.
Y-1 [4]
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19. Eﬂrklng dogs seldom bite, .. s d

Identlf]r the correct question tag to complete the above sentence.

(1) isn'tit @ do they

(3) don't they (4) won't they
20. Madhu gota goodjob .................. his own abilities and skills. -

Choose the correct phrase from the aptions given.

(1) 1n addition t_?:f (2) instead of

@ by means (4) in spite of

21. Victoria dressed according to her mother's instructions.

- In the above sentence, the underhned partis ... N :
(1) acompound adjective
' L{E) anidiomatic expression
{3) a defining relative clause
| @ a compound prepositional ph 1‘3.5;% '

22. Which of t.he_ following is not a part of a letter?
(1} Salutation (2) Heading
{3) Subseription Description

23. - Mr. Rao parked his red car .......(a)...... the bungalow.

He has three other cars.........(b)....... the red one.
Choose the correct pair of words that fit the blanks.

(1) () beside (b) besides
(@ (a) besides  (b) beside
(3) (a) beside (b) beside
(4) (a) besides (b) besides

24, Identify the pair of waords in which the letters ‘ed' are pronounced the same way.
(1) Played - picked (2) Wanted - wished
@ Jumped - jerked (4) Loaded -loved
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Finish the work early.
The above sentence can also be expressed as..........

@ Let the work be finished early.

(2) Let the work be finished.
(3) Letit be done early work.
(4)  Let the work got early. - -

26. A: Take rest.
B: You feel tired.
The sentences (A) and (B) can'be combined into a'single sentenee using the
linker ............ .
(1) however - (Z) moreover
(3) never the less incase
27. What do you call 'a person who does not know whether Gnﬂ exists'?
@ Agnostic (2). Theist
(3) Atheist (4) Altruist
28. Read the following sentence and identify the meaning of the word underlin
from the options given. :
Wangari Mathai fought for the same privileges for men and women in Afric
(1) Facilities D) Benefits
* (3) Respects Rights
29. Identify the niuat appropriate one-word sub stitute for the following :
One who puséearses many talem.z-:-..
@ Versatile ‘ (2) Prodigy
(3) Exceptional (4) Gifted
30. What does the underlined idiom in the following sentence mean?
The problem of water scarcity was discussed atléngth in the meeting.
(1) For a long time (2) Lastly
In detail (4) Mainly
Y-1 . {6}
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31. Which one of the following is not a binomial?
(1) Part and parcel Leaps and bounds

(3) Thick and thin 4y’ “Pick and leave ~

32. Identify the correctly punctuated sentence?
(1) Nobody however, believed the potter's story.
@ Nnhndf, however, believed the potter's story. |
(3) Nobody, however, believed the potters story.
@) Nﬂbsﬂn;l}', however, believed the potters story!

33. Iﬂentif]r the Wmngly spelt Wurd
(1) Propeller ‘ | (2) Precocious
@ Acusation (4) Momentum

34, The oranges aren't good.
Identify the correct :}pﬁbﬂfhatlis in agreement with the above
@ Yes, they aren't. (2) . Yes, theyare.
(8 No, they are. {4y © No, they aren't.

85, It'd be better for you to consult a doctor.
What does the above sentence express?

(1) An opinion (2) A command
: @ A suggestion (4) A strong desire
36. Identify the correctly spelt word. _
@ Indigenous (2) Indegenous
(3) Indiginous (4) Indeginous

37. He thinks that he should either resign or come glean.:
Identify the meaning of the underlined word.
(1) Free from dirt (2) Ui

(3) Complete As not corrupt

Y-1 1 Parn Gy
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The chdllenges in our lives are thereto 'strEngthen our convictions.
Chﬂnse the wcnrd that is nearest in meanmg to the untierlmed word.
(‘[) Feelmgﬁ _ _r) ' Practices |
@ Beliefs (4) Char acters
The Olympic flame is usually ........... after the completion ﬂfall the Eﬁrents.
Identify the appropriate phrase that fits the blank.
@ put out (2) putdown
(3) put off {4) putup
Which one of the following sentences dnes nut have a ﬁgure 4::-f speech"

(1) Sunitha is as clever as Kalpana Chawla
(2) Sumnitha runs like a hare.
(3) Sunitha is the Shakuntala of our H:.-hﬂl'.ll

‘ Sunitha is an e:-;r:eptmnal student.

A person who knows many languagesis ...
(1) alinguist -(2) vargrammarian
@ a polyglot 4 a bﬂingual

The old sofa gave wav when a stout man occupied it.
Identify the correct meaning of the underlined phrase.
@ Collapsed (2} Moved.
(3) Was shaken (4} Jerked

Devdas is one of the best films of Savithri.

The above sentence can be wntten as. oy

(1) no other film of Savlthrl. is as gﬂud as Devdaﬁ
very few films of Savithri are as good as Devdas.

(3) Devdas 1s better than any other film of Savlthn

(4) any film of Savithri is not so gmd as Devdas.

Identify the discourse markerthat isused for showing contrast.

@ On the other hand @) More over

(3) By and large (4) Forinstance

| I8
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45. The cabinet has been/ discussing about./ the drought sitnation / for six hnursr

(a) i (b) (c) {d)
The above sentence is dlwded into fnur parts {a)(b), (c) and (d]l Identlfy the
part of sentence which haé an error.

) (@ @ ®

(3) (c) (4) (d)
| 46. Theentiretamuy...........by. the calamlt:,r _
Identify the correct ﬂptu:_m that fits the blank.
(1) have shattered | (2) was shattering
was shattered _ (4) are shattering

47. Réad the following complex sentence.
Yoau should work hard so that you can get a first class
Identify its simple form.’ | |
(1) You should work hard in order toget a first class,

@ You should work hard to get a ﬁrst class.
(3) You should work hard so as to get-a. first class.
(4) You should work hard such that you get a first class.

48. My house stands .. .. all the other houses in the street as it 13 big in size.
Choose the right uptmn to fill the blank. NP
; '@ap‘art from (2) besides
(3) In acmrdance with (4) _in addition ta

49. Sivasubramania Ij,fer was not p_r:m;[bg_d, nor did he get angry with his wife. |
The underlined word means .............

(1) rejoiced (2) disappointed
(3) pleased " "disturbed

50. Natural resources in thls wnrld can I:.'-E sustained 11 ﬂIﬂ}'f there 1s sustained
mana gement of them.

Identlfy the part of speech of the underlined word in the ahove sentence
(1) A noun (2) An adverb
An adjective- (4) A verb

e
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i 12 3 4 5 |
“B1._ The set builder form of the set T 1731 I sk

{1.@. 3 4 5} :ﬁﬂ:@;l N————

Ti 1,?1 31549 ﬂugb ) ?lnﬂi:&c..

(1) ; < /J:EN :t:*iﬁ} (2) { = /IEN; x<b
- 2% -1 | - 2% -1 ,

e

r x : x
N; x<5 {3 fxeN; x<5
EI —1/:‘:E x } {4 -{I i, ¢ Il? ~ .I : }

52. The expanded furm of Lﬂg@ 1S .

125
Lo % oy, DS BIIGE 1orvvserersvenes

(1) 7(Log5-LogT) (2) '4(£og5-1‘.ag7)
(3) 2(Log7~Log5) ""'S(LogTuijga)

53. If Ac B then (A4 AP
Ac B eoxs (AUB)-A=....
(1) B @ 4 3) A () B-4

54, The H.C.F. of the numbers 3’ x5° x2* and 32 x7*x2% is oeueuunne. P
37 x5 x 2% wobcew 3% x 7 x 28 Gy, kg,
@ 94 . 32 (2) 28 287 %53 x 7
(3) 28x37 (4) 2x3x5x7

55. The probability of any given day in the month of May not being a Monday if

the 1* day of May is a Monday is .....ccccereunnas
0 DeE Rootsd e Mdsmrte mawm o Elere Sogrsg ...

@ 3 @ @zF @ %
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The mean of 10 nhservatiﬁ_ns-is 16.3 by an error, one observation is registered

as 32 instead of 23, the correct meanis.,, ey
: i R g

10 ooe e 16.3 esolis 2.8 0P8 SPtispesd D05 23 ins 32 esd S0 Botbeodsd 030

(1) 16.1 @ 185 15.4 4) 148

The mean of data 18 1011 each observation is multiplied by 2 and 118 subtracted
fmm eanh Tesult the mean of the new nhsewatmn |- PRI

LY SEROERo cﬁ::ﬁ;_, SKe 10 & BT 2 3 m:%ow 1 Bisds Sy BECEHS
oy L DN

2 @) 19/ (3 9 @) n

In an A.P,, p*" termiis g and g™ term is p, then its common differenceis .........

2.5 es083G GI00%. p N $85%500 g BoBoin g ® B0 p @00N TP STPOBEIN = ereraresens

(1) 1 @ A @ 2 k) e

(3,- 1), (2,6) and (-5, 7) are the midpoints of the sides of the triangle ABC.
The area of triangle ABC'j R §q. units.

MBC @Woﬁ%ﬂnﬁ:@h (3 —1) [2 E)m( =5 '?} Hrm‘aﬁmc Dions ey
@ 96 @) 6y (3) 86 (4) 110

If the median of the data : 24, 25, 26, x+2, x+3, 30, 31, 34 1s 27.5, then
{Data in the ascending prder) 18........000.

2. esBhines (508" Ke Toes 24, 25, 26, x+2, x+3, 30,31, 34 aloly Sas80 27.5
BCIT X = ivaneennas

(1) 27 @ 25. @ 28 ) 30

¥l [11] Turn Over
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If Cot8 + Cosecd =5, then Cosé =............

Cot8 + Cosec@ = 5 wowe Cos@=............

.12 26 53
= @ = - ® = @ =

13 24 12
A hemisphere is cut out from one face of a cubical wooden block such that the

diameter of the hemisphereis equal to the length of the cube, then the surface
area of the remaining solid is . .. 8Q. units:

mmmammmm%egﬁ‘m ﬂm%mm

D, Bciioardinn. oS DoADs 2, i G, SETLEO BTOED . rov.r.. .

). ﬂ2[5+—gj @ uﬂ[ﬁ -_r'-g—]

63.

)
3) EE[E+EJ @ a’ (4+E—]

 The angle of elevation of a jet plane from a point A on the ground is 60°. After a

flight of 15 seconds, the angle of clevation changes to 30°. If the jet planc
is flying at a constant height of 1500./3 meter, then the speed of the jet plane

184k ........ MISEC.

R By A Doty wod w¥ BS Turod, 30583 60° é‘gs‘m Tged 15 8 Bovd
=D %?mﬂﬂ“m.aﬂﬁm 150043 . 238 B8 288" Mot coBS ol
o 03 |

@ 200 @ 300 (3 400 (4) 100

64,

The mean of 1, 3, 4, 5, 7, 4 is m. The numbers 3, 2, 2. 4.353 3,‘;:.'1 have meanm — 1
and median g, then p+g=

"~y

1,3, 4,8, 7, 4011:3&3’:?&:.: m. Sopeed 3, 2, 2, 4, 3,73, p o), SKwo m — 1 iakn -
SNVBO 0NN P+ = e

) 4 @ 3 @ 6 7

[12]
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65. If o, § are {he zerces of the polynomial f(x)=x*-p(x+1}-¢c, then
CESES ) E—

f(x)=x’ —p[x-ﬂ-l}'—c_mmmbwﬁm a, B &smr{ﬂr+1](,B+l)=......-....

1) e-1 @ 1I—a {3} ¢ (4) 1+c

66. Iftheequation *+bx+c=0,x +cx+b=0 [ b # ¢ ] have a common root, then....-
(1) b+ec=0 (@ bec=1
3) b+ec+1=0 (4) None of these
2% 4 by + o= 0 %000 x? +ex +h =0 [b = c| ooel dlodBoretn 9T ...
(1) d+4c=0 @) b+ec=1
@ b+e+l= (4) 58 s

67. If8and 2are the roots of x* +m:+ﬁ= 0 and 3, 3 are therootsof x* +ax +b=0,
then the roots of the equation x? ; gx + 5 =0 &re .oceviercrnariin

Lrax+f=0 Mmms’sz+ﬂl+b=ﬁcﬁx§bw@mgj 3
#2+ﬂx+ﬁ=ﬂ ﬂﬂ%m&, NO ANSWER

(1 8,-~1 @ -92 @ -8-2 @ -9,-1

68. If pl“’ term of an A P. 1s'q' and its ¢* term 1s 'p', then its common differenceis .....

1 1 @A 30 (4) None of these

¥ wo¥EE GBoo, (AP.) p% s 'g' o H0dckn g & B ' sossd & B Slas,

(1) 1 @ -1 @® o (4) 2b=m

Y-1 [13] Turn Over
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[fthe sum of first 'n'terms of an ﬂ'.P-“E;-E, 8 ........ 1s equal to the sum of firet n.
terms of the A.P. 57, 59, 61, .........then‘n'isequal to.......c....s

2,5,8 &ﬂé‘nwnmmw 59, 61, ... DTEGED TS "
mamﬁw ' oo, e ..

D 110 @ 111

(¥ 112, 4 113

Ifp, q, rarein AP andx, y, zih G.I’; then :{:?-'*' x y"P x zP¢ is equal to .
p, g, red anﬁ@cﬁ (A.P) & 508055 X, ¥, 2 © mﬁécp (G P.) & éﬁaﬂwﬂ

Iqrxy”’xﬁﬁ .............

(D) p+g+r | (2) xxyxz
@ : ; (4) px+gy+r
x+y]| 1 | v :'E. '
71. Log % =-§{Lﬂg X+ Lﬂgy), then the valug of ;+'i' 18
Pk ¥ .
Log| X ¥ XetnQ( I +L — 4= s
€| 5 =5(Logx E*E:‘-’]w::ﬁ ST B i
(1) 9 2) 5
@ 7 | @ 11
72, Log,,2=0.3010 the number of digits in 42""” |
Log,,2=0.3010 wb 4%07 sols e e:m&uﬁ:aa:a
(1) 2015 2 2016
@ 1215 (4) 1214
73. If a=b%=c® then Logiab= i
a=b%=¢? s Log ab= ...t .
W3 @ 4 ® 3 @ 3
Y-1 [14]
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4.0 a® +b? = ¢? then Lﬂgﬂ[c*b}—thg;(i}.;F )= ciiion
a® +b* = ¢® saww Log, (c—b}+LogE(e-'4- b) =it

). =1 @ -2

3 1 A4) .2

75. Ifthe rad{i of two eoncentric eircleé are 12 cm and 13 cm, then the length of the
chord of one circle which is tangent to the other circle _is # '
13 M., Bo8chs 12 o.k. wpgmo&"aam Dol Sywes Aavnaon. woss 8
DT S DI Tock), & iﬁ*&@

@ 10cm . [2} 12 cm
(3) 14 cm {4} 16cm
g
76. U x=aSec8Cosp,y= bSecHSmgi,z cTan@, the:n —5 —h‘]% =
- a
: 2 J',E
x=a8SectCosgd,y= bSecHSm#,z ETMEM —2-+ PT = e
2 2
z z
1 e i
8 (2) 1-%
2 . 2
e z
(3) S ‘ 1+—2-
77. If 731n23+3Cns"ﬁ =4, t.hen Tﬂnﬁ = reeerennen
7Sin%0 + 3 Cos26 = 4 2503 Tanﬂ = iiieeied
M 3 @ - @) 1 @ o
78. If Sin6+ Sin%0 =1, then Cos?9+Cos'f=.......
() -1 (2) 1 .3 0 (c;_L) None of these
Sin8+8Sin’0 =1 e3d Cos®0+ Cos*é=........
(1) -1 (@1 @ o @ SBws
Y-1 18] Turn Over
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79. If the centroid of the triangle formed with (a, b}, (b, ¢) and {c, @)is O(U;l 0},
then @ +8%+c3 =........ 3

Detoges (a. b), (b, ¢) woaws (.r:, a) w@w&@%%@%ﬁc@o 0(0, 0)

eoxsd ¢ + 5% + ¢ = eeerans

(D) a+b+e (2) {H_-;H:
@ = 3ab

80. If A(p,q), B(rﬁ, n) and C(p—m, g—n) are collinear, then..... [ .o
A(p, q), B(m, n) a8 C(p-m. g -n) :.ﬁf‘a@ovmm ...... .. :
0 24 aplet

() p+g=m+n 4 p+gtm+n=0

81. 1£P={3xa’:rEN,x550}, Q=[5If.‘h‘:EN,.’E£3D},thEﬂ m(PﬂQ):.......

P={3xfxEN,:t55lJ}, Q={5Ifx'E'N,‘x£.3ﬂ} Em:;’:n(PﬂQ]z .......
(1) 5 (2 8

@ 10 (4 15

82, In the given figure DE || BC and
AR :EC=4:7,then BC: DE=......... -

a0 $2308" DE || BC 500 AE: EC=4:7

eI BC:DE=.......... B

@)11:4 @ 4:11

(3 11:3 ¥ (9 3:11
Y-1 (16]
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Code
If ¢ and g are the two zeroes of a polynomial x% —B5x+6 then the value of
:l-'- 1 . " v et -
~H—E+E§ is
x¥-5x +6 mmmwum 137 ﬂ ¢ eocudh ——+F Sosth, DO ..
a
13 17
(Wgg @
19 23
@ 25 @ 3
[f 2% - 37 =17; 22— 3" = 5, then (%, ¥) i8.ccccrsrerneen
9% 1 3Y =17, 257 _ 3 = 5, i (£, ¥) Zevvvevesnnen
(@e(3.2) @ (23)
@ (-23) @ (4-2)
The ‘iralu;? of & for which the system of equations _(Bk-r 1):4:+33{—2 =0 and.

_(kE 41_)::,+ (F-2]y-5=0 hasno solotionis .....

(3k41)%+3y -2 = 0 ss0cio (2 +1)x +{k-2) y-5=0 ciodssBogFk duss ...
M 1 @ 2

@ = @ -2

86. A boxcontains 12 balls out of which x are black. If 6 more black balls are put in

the box, the pmhﬂblhty of drawmg a bla{:k ball now i§ double of what it was

before. The valuc of xis .
25 R 12 mﬁa@m:cm%m 20T 6 Sesy eotors DU eyt Balo
B00d B ed Soliss BorPHB ISl Mo TloW) ePB00D EOANS L DB ..o
(1) 5 (2) 4
3

@ @ 2

Y-1 n7.: Turn Over
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Three unhlased coins are tossed. The prubahﬂlty of getting at most two heads

mnﬂum@mammwmmmﬂaw —

W 3 ® 3 @ 3 @ 5

In a equilateral triangle ABC, if AD | BC, then....

AABC 535552050 @400, AD | BC 90555 v

() 5AB? =4AD? (®) 34B? = 44D?
(3 4AB® = 34D @ 24B%-34D°

In a G.P. the 3 term is 24 and 6% term 18 192, then the 10™ term is..........

L5 HoraBAED 3 3 550 24 50000 65 525595 192 ety 10 5355505 ...

1) 512 @ 1024

(3) 2048 3072

The ratio in which the line segment joining the points (4, 6) and (-7, -1)
dtmded by x-axisis ..

(4, 6) Wwdako (-7 ~1) ﬂmﬁnmwmmm egia&ﬁﬁﬁnm%ﬂ ...........

- @6:1 (2) 1:6

(3) 4:7 4 7:4

91. Slope of the line joining (—u, a) and (u. a -+ g@) 1

(—a, aj BBt (f;’r-, u#m@) P
oz ® 7 @ V3 {—3—
(18] -
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93. .

“i

Y-1

‘‘‘‘‘‘‘‘‘‘‘ - Em
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1
In a equilateral triangle ABC, D is a point on side BC, such that BD = EBC 3

Then 9AD? =........

nSseries (@gounsa ABC &, goeeBC B Hessy D’ cadesT BB=§BC (= Iott
9AD? =........
M 348' - @ 548 @) 74B2 (@9 44AF

The angles of a triangle are 30° 60° and 90°. The ratio of its sides is............
15 @hideo 69 §emos 30, 60° 50805 90° 6003 R 4ireme FEHO AP -onoie-..

(1) 1:2:43 @ I:Jﬁzﬁ (3) JP_.:I;E (4}'1r2:3

The minutes hand of a clock is 10.5 em. The area swept by it in 10 minutes is
9 E , . SN s . ; '

£ S KBRS D2 50063 2R 10.5 30,50, escusd 68 10 0. 06 50igsots Je o
..... - - ¥ Wil .

() 1155 @ 57.75 (3 - 11.55 '_{4} 577.5

Two circles of radius 15 cm .a_nd 13 cm intersect at A and B, such that

AB = 24 em. The distance between their eentresis............cm
15 2o.00., 13 Be.o.ed TPTedT Ko Dot $)ates 4, B Dotisipe B8 podeds
AB = 24 0.5 wos et Somre 15 SRS ..vveseenn.

(1) 28 | @ 14 (3) 18 ¢4) 16

The distance between the two parallel tangents of a circle whose radiusis 12em
- S—, % * | 3 5 -

12 2.2, Tgnnns 399 2.8 D03 Ao Coll SHmot tiee My SMEEm .......... DO,
@ 14 () 24 3 28 (4) 36

[19] Turn G\fﬂf
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97. Two circles with centres A and B touches
‘each other at the point C. If AC = 8 em and
AB = 3 cm, the area of shaded region is ............. cm®.

A, B ieresm KXo dots Hmpes C 55 Hdess Hamow.
AC = 8 a8, 5601 AB = 3 o.o. e RE S goe.
(1) 137 . @ 5=x (3) -39 (4) - 8z

98. The C.S.A. and T.S.A. of a cylinder are in the ratio 2 : 3. Its T.S.A. is 924 cm?,

then its volume is ................ cm®.

2. oMse Gl (% e Pree m_wgﬁmge-pgﬁ G 21 3, OF Soyrite T
924 230.50.7 coonnid TR0 P08 HORIE0 L uueuennns o0t

(1)) 2156 @ 1256 @) 1265 4) 2516

89. The height of a cone and its base radius are 4 cm and 3 cm respectively. Then

its slant heightis ........... col.

w8 Bopop Mk, I, msa?mw 4?:::-.5:.;’::&-&1::37::5-53. B TR WD
a%: s

1y 4 2 @ @) 5 4 6

100. Three consecutive vertices of a parallelogram are (-2, 1), (1, 0) and (4, 3). The

fotige (-2, 1), (1, 0) Ssbaies (4, 3) R — Wotinee Gesl Hges e

@ (1, 4) @ (1,-2) @ (-L2) @ (-1,-2)

Y-1 [20] i
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PHYSICAL SCIENCE Code |
'101. Match the following / estionoso :

i) Zincblende /858l a)  ZnO
if)- Magnesiteﬂ'_‘.‘nﬂh’ﬁﬁ hj' | ZnS
iff) Zincite /238 ¢) KCl.MgCl,-6H,
iv) Carnallite/sgps d MgCo,

T

() D-b),i)=-d),ii)-a,iv)-a) () ) —a), i) ~b), iii) — ), iv) — d)
‘;) ), ii) - - d), i) - a),r.r}-c), @, i}—'c) ii) — ), iii) — d), iv) — b)

102. The chenucﬂ.l process in which the ore is heated in the absence of air is called ...
{1) calcination , (2) roasting (3) smelting = (4) poling

R Bolio s’ BEol &S PEID0 wdae BIo '
(1) siystiene (2) oo (3) Eheso (4) bof
103. Oneof the fhl‘luwir{g metal is obtained by the (zelf) auto reduction of its sulphide
ore : - 2
STE o) G, 5oke Fsktese TRAOP 54 $E5N), SolerIR
(1) Zn @) Mg ®) Cu (4) Al

104. The structure of 3-amino 2-bromo 1- hexana] s .

3.34&24&:»1 mq?s‘smac;m e
(1) CH, —CH-CH -CH, - CH, HCHE(}H

| I
NH, Br

@ CH,-CH,-CH,-CH —CH - CH,OH
| | |
NH, -Br
(3 CH,-CH,-CH~CH, -CH, -CH,
I I I
Br OH NH,
(4) CH,-CH,-CH-CH,-CH -CH,OH
o "l
NH, Br
Y-1. [21]
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105. Which one of the following is used as preservative in pickles?
(1) Acetic acid (2) KEster
(3) Alcohol (4) Vinegar
300 TIE A GIAPACD St D Teo Dey B
(1) 35 esito (2) 56
(8) egrd 2216
106. Which one of the following does not belong to the same homologous seri
300 36" 2.8 e BEeid Jesnd |
1) C.H, @ C,H, @) CHe @) CH,
107. The final product of chlorination of methane in the sun lightis.......
SO, S0eE" Do Gk, SRS 15558° Dss oty SRRSO ...,
(1) CH,CI @), NeHcy,
(@) ca, 4) CH,CI,
108. Match the following : |
1) Amines 2)-- R-O-R
11) Aldehydes ) R-NH,
iii) Ethers ~ s¢) R-COOH
iv) Acids d) R-CHO
st : :
A, s a) R-O-R
i) es§ink b) R-NH,
iii) Sub ¢)  R-COOH
iv) esivo d R-CHO

(1) i)-b),ii) - d), iii) - ¢), iv) — a; 2) i);- b), ii) - a), iii) — ¢), iv) — d,

(3) 1)—a),ii)—b),i1i) —c), iv)—d) 1) =b), i1) = d), iii) — a), iv) - ¢,
109. Which one of the following is unsaturated h_vdrd carbon? |

300 08" exsoty APETS

(1) CH, @ C,H, %) C,H () C,Hy,

Y-1 [22]
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The mirror used by E.N.T. doctorsis.............
_{1} plane mirror (2) &‘eoncave mirror
- (8) convex mirror (4) rear view mirror

111.

112,

E.N.T. G S8rAcS Stheac

(1) issxse e (@) wrssssmo

(3) Sooprsel Bheso (4) oawbyrywpd

The image is formed by a concave mirror is 'ﬁrtlia], erect and magnified. The
position of the object is ............

(1) at F (2) Between Fand C

3 atP {4) * Between Pand F

£ S IS8 DTS, SRR Domr R BDema K DyBtisests INge 3% 5 Hord
(1) Fag (2 Fusltamn Ceowlyg

(3) Puss P 3800 F o 8o,

Find the distance of the image when an object is placed on the pﬁﬁcipﬂ axis at

a distance of 10 em in front of a concave mirror whose radius of curvature is

8cm.
(1) 6.2cm 2 6.5cm
3 7.2cm (4 6.6cm

80,50, HEG TGO Mo PTG Bthree Gk, BEFER D ttheso 8008 10 o.M E5rtos’

113.

2.5 S50 Godd (58Dor0 Job SIMSE® Diyted
(1) 6.2 30.5. @ 6.5be.b.

3) 7.2 30, 6.6 Bo.do.

The minimum distance from real object to a real image in a concave mirror is ...

DPTE eS8t e I3, Des EONCLD BS KR ETES eveee
1) f @ o "

3 g e 2f
[23]
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114 Which one of the following ray diagram is not correct?

115.

116.
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1 1800 w365 D) Surs DS HOTWEH?

\\& o

3)\\) o =)

The number of images formed by a lens made up of three different maFEi

wmﬁ&pm&mﬁmﬁmﬁuﬁm@mwma ........ |
1 1 2 2 @ 3 . 4) 4

Convex lens is used in the making of microscope because............
(1) it gives diminished image

'2) it gives magnified virtual image same side of the object

(3) it gives real image behind the screen

(4) it gives magnified image opposite side of the lers

ST ST RAHEO BArDE’ SSAPAID. Jo 508l &b

(1) Do oo EEDo Natisyod

(2) e DS WS DoePRy S e W00

(3) DS VOS e DT, DIV Stotied

@) mmumwﬂam& St ety Do

117. What is the focal length of dﬂuhle concave lens kept in air with two sphe:
surfaces of radii R, = 30 cm anﬂ R, = 60 cm? Take refractive index of len
n=1.5.

SELSS omse n = 1.5 Ho 2. Bgdersts Ketio mdE® dodnadod. St Gk, Toks Hi§
o roes R = 30 do.o., B, = 60 200,000, LA &5 el TR0 HOH?
(1) —20cm (2) -30cm
@ _40 cm (4) -90cm
Y-1 [24].
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119.

120.

121.

sakshieducation.com

% . t
el O

The lens which can form real and virtual images in air is ........... e
(1) Biconvex (2) Biconcave

(3) Plano concave (4) Plano convex

mOE® Dz 5000k Doy HODEE GBI S5 cevveersens.
@ Ogocrel (2) BgHursw

(3) Wb Py (4) Sobe Logrd

When a lens of focal length fis cut into two /\ ﬂ f\
equal halves perpendicular to principal

axis, then the focal length of each part of \ / U /
thelensis.............

(1) remains same (2) double

(3) halved (4) noneofthese

5006° WL DO f TROBEO KO LPTE /\

FLRESRD PO ofdnE vondoom Tod ﬂ \
SISO OO0 SO G0, TP \ / U /
(1) B> @ e
@ S0 el @) 98 e

If a person uses a lens of —2.5 D power, then the focal length of the lens is ...

2553 2.5 D Jvogios a5 Sl SSAPRcID T R ot
(1) 40cm (2) 50cm @ - 40em  (4) -50cm

Which one of the following phenomena of light are involved in the formation of

a rainbow?

(1) Refraction, dispersion

(2) Refraction, dispersion and total internal reflection
{3) Reflection, refraction and dispersion

(4) Dispersion, scattering and total internal reflection
200 36" qo g, Dt 5Rud ) Byisieionm
() wessso, Tiseo

(2) 9gste, TEsero SOGD BOYPTIOBY SovEe

(3) sovstide, HiiLNe Sk JESeso

(4) o0 Useso, B0 BaBCHL HEYTTOBE STTREe

i | [25] Turn Over

sakshieducation.com


webs87
Oval

webs87
Oval

webs87
Oval

webs87
Oval


sakshieducation.com

Q. Booklet
Code C

122. Select the correct statement of the following :
(1) The least distance of distinct vision at below 10 years age is 7-8 cm
(2) Theleast distance of distinct vision 111 old age is 1 m or even mnre
(3) In angle of vision is above E{}“ then we can see DH]}F the part of the nb]ect
(4) Angle of vision and least dlstance of distinct vision are same for all persons

Bob TS P TIR, ogeted.

(1) 10 Sendy Sosomrd %qﬁﬁbﬁ B0 7-8 0.0,
(2) mwmm@qﬁm 1008 s
‘ Emsteso 60° Diod Ssss FoBgrite Wrgs Bralee
(4) D% s3to, By esotsd 35 Disom Goksol

123. The direction of lines of fnrce in the inner side of a solenoid is .

(1) North to South ' (2)  South to Nnrth

(8) East to West (4) Westto East
HOmant ST st PO B

(1) &5o ool e (@) tdroiod ato

(3) Bty ool SRS | 4 (4) 9805008 BIEx

124. No force works on the cnnductc:r carrying electric current when it kept ol
(1) away from magnetic field (2) inthe magnetic field |
(3) perpendicular to magnetic fielde (4) parallel to magnetic field

Bo0 DM SV DS (S THEC P Jorow) 100 SIS

(1) ecidcbipral&rtom (2) edbdcBiBed’

(3) m::é%p‘b&mn' wgpaﬁ e SBOCT
125. An electric motor converts...............

(1) mechanical energy into electrical energy

(2) electrieal energy into heat

(3) heat energy into mechanical energy

(4) electrlcal energy into mechamcal energv

(1) cxro@E 350 Doppim (2) DI Ger
B) &R aroPsET DSonED TGS
&% | [26]
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128.

129.

130.
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At the time of short circuit, the current in circuit ..............

(1) not changes - (2) decreases

(3) increases * (4) can't say

&E:swbaﬁ Wﬁaoﬁmﬁibﬁ:ﬁ&

(1) o (2) BBl

(3) wewinsisscd @) DB

The resistors of values 18Q, 3Q2 and 6Q are cdnnec,ted in parallel. The
equivalent resistance in the circuit will be ...........

pENecnes’ 180, 3Q2, 6Q ns‘mnwguﬁummm;ﬁmn%
1) 270 @ 270 (3) 180 (@) 180

Heater coils are prepared with ........... |

(1) copper (2) gold (3) silver . (4) nichrome, manganin
7035 TraooGin HOXR Doernd e

(1) oA @) warto & | (3wl E5s, 57oKdS
Match the following :

1) Current : a) Volt

.ij) ‘Resistance b) Ampere

iii) Potential difference ¢). Ohm meter

iv) Resistivity d) Ohm

RESthook

) D EEre a) &8

i) 28%e b) eschcib

i) >EYcid o ¢) Sav-nowb

iv) 2326%e d £

@) Db, i) —a),ii)-d),i)-0) (@ D-a),i)-b)iiH-0),iv)-d
3) i)-a),ii)—b),iii)—d), iv) —c) i) ~b), if) - d), i) - a), iv) - )

Three resistances 20, 8{2 and Rﬂ are connected in :sérieﬂ If the effective
resistance of the combination is 16}, then the value of R will be ..

20, Bﬂmﬂn%mmﬁ‘@m@ﬁmmw@ 16Q m:}:&‘

@ﬁﬂ @ 89 (3) 10Q ---(4:1 160

[27] Turn Over
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131. On every day a.60 W bulb 1s used for 8 hours. The amount of energy ut.;]med in
30 days in kilowatt hours .............
 ©508% L5 60 W wepyo smmmwn;‘)maau Seron DAy B kWi of...
(1) 5.2 @ 7.2 @) 144 ¢ @ 162
132. The effective resistance of the combination 2.4 84
between points A and B as shown in the
adjacent diagram is...........
&Y, Se08" 5rindar A Bedats B Hotispe :'a:qs;'
re 506 28%0
(1) 200 (2)
20 3
—anﬂ (4) Eﬂ
133. The colour in the sequence VIBGYOR that has least wavelength is .......
(1) Yellow (2) Red (8) Green (4) Violet
VIBGYOR & 63,3 Soi@io 16 ol &
(1) s @ Xsp @ ewsy (W) so

134. If the conductor is movin g. with a speed of 10 m/s in the direction which is
perpendicular to the direction of magnetic field of induction 0.8 T, if it induces
an emfof 8V between the ends of the conductor, then the length of the conductor

0.8 T esciod® o6 PTrPotst IOAS TBOEDH ocwom m...:,*:.-. WMWEM
Do Sags 8V Diaimes peo (BTholedD e SIS

1) 0.1m @ 1m @ 08m: @ 8 m
135. Select the incorrect balanced chemical equation of the following -
300 oy SREePOS" S0P IS JipSied

(1) 4NH,+Cl, - N,H,+2NH,Cl () NHgy+8Cl,— NCI+3HCI

@ 8NH,+3Cl, »6NH,Cl+N, = (4 2NH,+3Cl, - 2NCL, +3HCI
136. AgNO, + NaCl — ........... _

(@) AgCl+ NaNO, @ AgCl+Na,NO, +

(8) AgCl,+ NaNO, (4) Ag,Cl+ NaNO,

Y-1 [28]
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187. Calculate the mass of hydrogen liberated when 230 grams of sodium reacts
with excess of water (At. wt. of Na =23)

zsomﬂmﬂwm ;scssaa.a:;:sym DTS qé&sﬁmu;ﬁa@ﬁam

(Na sugru=23)
(1) 5grams @ 10 grams  (3) 23grams (4) 1gram
188. If the pH of a solution is 13.8, then it is ...............
(1) weak acid | (2) weak base
(3) strong acid | (4) . strong base
2% [risessos pH Dests 13.8 eossd b p
(1) wetrsass eso (2) welrsASTEo
(3) weRs e @ wessgso
139. Match the following : s
i) Plaster of Paris a) CaOCl,
ii) Gypsum | b) | CaSO, -%HEG
iii) Bleaching powder ¢) + Na,CO,
iv) Wé,shing soda d) CaSO,-2H,0
BHNEN0G - :
i) 26 eh 5 a) CaOCl,,
) e b  CaSO, 2 Hy0
iii) HocRrub ¢ Na,CO,
iv) oef Fae | d CaSO,-2H,0

(1) 1)—a),ii)—c), iii?-d},iv}—h) (2) 1)-—-d),n)-Db),1ii)—a),iv)—c)
(3) i) ~b), i) - d), iii) — ), iv) ~ ) @) i) —b),ii) -a), 111) d), iv) - ©)

140. Salt formed from a weak acid and strong has& pH valueis...........

2. 230bs iS00, 20 B 15 ElBE DEEN oBere pH 2055 v,
(1) <7 @ >7 ® 7 @ <7

Y-1 | [29)
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141.f n.= 3 and I = 2 the energy level represented as .......

142,

143.

144.

145.

n=30=2 mﬁa%ﬁ@;&n

(1) 3s @ 3p @) 84 @3
To which bondary surface diagram of d-orbital indicates?

B Do d-@gmMMtﬁa :

(1) d, @ d,’

@) d, dag

The pair of atomic numbers which belongs to the ' 'p' block ele:n,ents @

54 (300 TS’ D £ HBETe Sopes 'p' P SaPeTO DOSITRON

(1) 3,5 - (@) 1,12 3, 7,8 4) 12,13
Which one of the fﬂllnwing' decreases in a group from top to bottom?
(1) Atomic size S (2) Matallic nature
(3) Eieatfnpusitivit:,r (] Elept;unegatiw.rity .
et 5395% 5 (D6 P ot BeBI MG R
(1) STaTees HOEFeD (2)  EmidgEsan
| (3) DT | (@) wwn aprass
The least electronegative element 7 ——
eoeRy 2063 :}ﬁaémﬁ:%% e Woroko .. _
@ Cs @ F | (3:. Cl 4) H-
146. Match the following : |
22RO ¢ _
1)  104°31' a) NH,
i) 180° | b) BF,
i) 107%°48" .. . ©) . . BeCly
iv) 120° | d. H, o

(1) i)-d), ii)—c};'iiij-h},i%r}—ﬁj‘ (2) 1i)-d),ii)—a),iii)-c), w}

@t’i}—d),m—c), ii)-a),i)-b) @) i)-a)i)-b),ii)-c),iv)-

Y-1. | [30]
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Q. Booklet
Code C

147. Bond energy of H-Clis..............

H-Cl G, 03005 83
(1) 410kJ.mol" (@) 432kJ.mol”
(38) 460 kJ.mol! (4) 480kdJ.mol™?

=~ 148. Choose the correct form of the diagram representing H, molecule :
H, stasiyso 500 300K 030

I )

149. 2, 8, 1 and 2, 8, 7 are electronic configurations of A and B elements combine to
fnrm a molecule. Its formulais..............

2,3 1 3200a» 2, 8, ?aal?mmﬁonuAmBmmyuﬁmmﬁ:m

@ AB (2) AB,
@) AB (4) AB,

150. The valence shell of the central atom of a molecule has four bond-pairs of
electrons. Shape of the moleculeis .............

(1) linear | (2). plane triangular
(3) square planar (4) tetrahedral
50 ..
@D thave @) Bhow Bgowo
(3) Bdow waise Sootnoo
Y-1 [31]

sakshieducation.com


webs87
Oval

webs87
Oval

webs87
Oval

webs87
Oval


	img1001.jpg
	img1002.jpg
	img1003.jpg
	img1004.jpg
	img1005.jpg
	img1006.jpg
	img1007.jpg
	img1008.jpg
	img1009.jpg
	img1010.jpg
	img1011.jpg
	img1012.jpg
	img1013.jpg
	img1014.jpg
	img1015.jpg
	img1016.jpg
	img1017.jpg
	img1018.jpg
	img1019.jpg
	img1020.jpg
	img1021.jpg
	img1022.jpg
	img1023.jpg
	img1024.jpg
	img1025.jpg
	img1026.jpg
	img1027.jpg
	img1028.jpg
	img1029.jpg
	img1030.jpg
	img1031.jpg



